EiEBRM5EIAG6AA)

ENE X — iR R BN EHERICHE TS ER B REAESER

#3E . HORIBA PA—1000

BfI: uSv/h

HFE S :100cm

#h = FithmGt) | F2R(R) | H3M R (F) FaM S (FE) | FESHA (BE)
HBIE BRI 15:04 14:51 14:44 14:35 15:16
BIEE 0.066 0.052 0.052 0.071 0.053
ATEEE 0.009 0.002 0.006 -0.002 -0.004
EER:SF5E381580K)

h = F1hm(dh) | SF22iR(R) | HE3Hha(F) FAth S () | FEoihs (BE)
I TE BRI 15:08 14:55 14:46 14:36 15:21
HIE & 0.057 0.059 0.045 0.071 0.054
ATE EE -0.009 0.007 -0.007 0.000 0.001
EER:SF5E3A208(A)

& FithmGt) | F2R(R) | H3M R (F) FAM S (FE) | FoHA (BE)
B E B Z 15:05 14:53 14:45 14:34 15:18
HIEE 0.058 0.046 0.049 0.074 0.056
ATEEE 0.001 -0.013 0.004 0.003 0.002
EHER:SF5E3R278(A)

Hh = F1thmt) | F2R(R) | FI3MA(F) Fathm () | Foths (BE)
I TE BRI 15:03 14:50 14:42 14:33 15:13
HIE B 0.060 0.051 0.050 0.074 0.058
AT[E LE 0.002 0.005 0.001 0.000 0.002




EN it X — i BERMFZR LB EMIER(CH T HEMBSA BB ERR

H4FE . HORIBA PA—1000

BAI: ySv/h  BIES:100cm

EEB:5HM5E2A6HA)

= F1hm () | F2tha () 55 3ith = (FE) Fauhm () | FE5MR(EE)
B EEFZ 15:07 14:55 14:46 14:36 15:17
BIEfE 0.054 0.045 0.047 0.065 0.057
ATELE -0.003 -0.009 0.002 0.003 0.005
EERAM5E2814800

#h = F1hmadt) | F2ita (E) 5534 2 (F) FAh () | FoitR(EE)
HIE Bz 15:06 14:54 14:45 14:36 15:18
BIEfE 0.061 0.052 0.051 0.071 0.059
ATELE 0.007 0.007 0.004 0.006 0.002
EiER:AF5E2H20H(A)

#h = F1hmadt) | F2ita (E) 5534 2 (F) FAh () | F5itR(EE)
HIE Bz 15:07 14:56 14:44 14:33 15:18
BIEfE 0.061 0.052 0.054 0.067 0.060
ATELE 0.000 0.000 0.003 -0.004 0.001
EiER:AF5E2827H8(A)

#h = F1hmd) | F2ita(E) 2534 = (F) Faihm () | EoMR(BE)
HIE B Z 15:04 14:50 14:39 14:32 15:15
HBIENE 0.057 0.050 0.046 0.073 0.057
AIELE -0.004 -0.002 -0.008 0.006 -0.003




EiEBR/FM5E1ASACK)

ENE X — iR R BN EHERICHE TS ER B REAESER

#3E . HORIBA PA—1000

BfI: uSv/h

HFE S :100cm

#h = FithmGt) | F2R(R) | H3M R (F) FaM S (FE) | FESHA (BE)
HBIE BRI 15:05 14:53 14:44 14:36 15:18
BIEE 0.059 0.053 0.055 0.069 0.053
ATEEE -0.002 -0.001 0.000 -0.007 -0.009
EER:SF5E1 810800

h = F1hm(dh) | SF22iR(R) | HE3Hha(F) FAth S () | FEoihs (BE)
I TE BRI 15:05 14:55 14:46 14:36 15:17
HIE & 0.065 0.063 0.054 0.077 0.064
ATE EE 0.006 0.010 -0.001 0.008 0.011
EEBSF5E1H17800

& FithmGt) | F2R(R) | H3M R (F) FAM S (FE) | FoHA (BE)
B E B Z 15:04 14:52 14:44 14:35 15:16
HIEE 0.059 0.053 0.057 0.073 0.053
ATEEE -0.006 -0.010 0.003 -0.004 -0.011
EHER: 5551 A238(A)

Hh = F1thmt) | F2R(R) | FI3MA(F) Fathm () | Foths (BE)
I TE BRI 15:06 14:52 14:44 14:35 15:16
HIE B 0.062 0.055 0.051 0.066 0.060
AT[E LE 0.003 0.002 -0.006 -0.007 0.007
EERB:$f5%1H8308(R)

o= F1m(dh) | FE2im(F) FE3H = (F) FAt S (F) | FEots (BE)
I TE BRI 15:06 14:54 14:45 14:35 15:16
HITE B 0.057 0.054 0.045 0.062 0.052
ATEEE -0.005 -0.001 -0.006 -0.004 -0.008




EEHSM4FE12HA58(H)

ENE X — iR R BN EHERICHE TS ER B REAESER

#3E . HORIBA PA—1000

BfI: uSv/h

HFE S :100cm

#h = FithmGt) | F2R(R) | H3M R (F) FaM S (FE) | FESHA (BE)
HBIE BRI 15:06 14:54 14:45 14:36 15:16
BIEE 0.063 0.054 0.053 0.083 0.057
ATEEE 0.006 0.007 0.007 0.010 0.001
ERERSF4E128128A)

h = F1hm(dh) | SF22iR(R) | HE3Hha(F) FAth S () | FEoihs (BE)
I TE BRI 15:05 14:54 14:46 14:37 15:17
HIE & 0.059 0.055 0.049 0.070 0.056
ATE EE -0.004 0.001 -0.004 -0.013 -0.001
EEBSM4E12R198(A)

& FithmGt) | F2R(R) | H3M R (F) FAM S (FE) | FoHA (BE)
B E B Z 15:06 14:52 14:45 14:36 15:20
HIEE 0.061 0.047 0.053 0.074 0.052
ATEEE 0.002 -0.008 0.004 0.004 -0.004
EHER: S 4E12826HA)

Hh = F1thmt) | F2R(R) | FI3MA(F) Fathm () | Foths (BE)
I TE BRI 15:04 14:52 14:44 14:34 15:16
HIE B 0.061 0.054 0.055 0.076 0.062
AT[E LE 0.000 0.007 0.002 0.002 0.010




EEHSM4FE11H78A)

ENE X — iR R BN EHERICHE TS ER B REAESER

#3E . HORIBA PA—1000

Bifsi: ySv/h HFE S :100cm

#h = FithmGt) | F2R(R) | H3M R (F) FaM S (FE) | FESHA (BE)
HBIE BRI 15:07 14:56 14:45 14:34 15:19
BIEE 0.057 0.057 0.056 0.068 0.052
ATEEE -0.002 0.006 0.006 -0.005 -0.001
ERERSF4E11A148A)

h = F1hm(dh) | SF22iR(R) | HE3Hha(F) FAth S () | FEoihs (BE)
I TE BRI 15:04 14:52 14:43 14:34 15:16
HIE & 0.057 0.055 0.053 0.063 0.054
ATE EE 0.000 -0.002 -0.003 -0.005 0.002
EEBSM4E11A21HA)

& FithmGt) | F2R(R) | H3M R (F) FAM S (FE) | FoHA (BE)
B E B Z 15:06 14:53 14:45 14:35 15:15
HIEE 0.061 0.054 0.050 0.069 0.053
ATEEE 0.004 -0.001 -0.003 0.006 -0.001
EHER: S 4511 H528H(A)

Hh = F1thmt) | F2R(R) | FI3MA(F) Fathm () | Foths (BE)
I TE BRI 15:03 14:51 14:43 14:34 15:13
HIE B 0.057 0.047 0.046 0.073 0.056
AT[E LE -0.004 -0.007 -0.004 0.004 0.003




EiEBRM4E10A3HA)

ENE X — iR R BN EHERICHE TS ER B REAESER

#3E . HORIBA PA—1000

BfI: uSv/h

HFE S :100cm

#h = FithmGt) | F2R(R) | H3M R (F) FaM S (FE) | FESHA (BE)
HBIE BRI 15:05 14:53 14:44 14:36 15:18
BIEE 0.061 0.050 0.048 0.069 0.053
ATEEE 0.005 -0.006 -0.005 0.002 0.002
ERERSF4E10A11HCKN)

h = F1hm(dh) | SF22iR(R) | HE3Hha(F) FAth S () | FEoihs (BE)
I TE BRI 15:08 14:55 14:46 14:38 15:18
HIE & 0.059 0.050 0.053 0.061 0.059
ATE EE -0.002 0.000 0.005 -0.008 0.006
EEBSF4E10RA17HA)

& FithmGt) | F2R(R) | H3M R (F) FAM S (FE) | FoHA (BE)
B E B Z 15:08 14;59 14:48 14:40 15:20
HIEE 0.070 0.051 0.050 0.067 0.053
ATEEE 0.011 0.001 -0.003 0.006 -0.006
EHER:SM4E108248(A)

Hh = F1thmt) | F2R(R) | FI3MA(F) Fathm () | Foths (BE)
I TE BRI 15:05 14:51 14:43 14:34 15:15
HIE B 0.057 0.052 0.088 0.066 0.057
AT[E LE -0.013 0.001 0.038 -0.001 0.004
EERSF4E10A31HA)

o= F1m(dh) | FE2im(F) FE3H = (F) FAt S (F) | FEots (BE)
I TE BRI 15:08 14:55 14:47 14:36 15:21
HITE B 0.059 0.051 0.050 0.073 0.053
ATEEE 0.002 -0.001 -0.038 0.007 -0.004




EHBA5M4E9850(A)

ENE X — iR R BN EHERICHE TS ER B REAESER

#3E . HORIBA PA—1000

BfI: uSv/h

HFE S :100cm

#h = FithmGt) | F2R(R) | H3M R (F) FaM S (FE) | FESHA (BE)
HBIE BRI 15:06 14:54 14:45 14:36 15:18
BIEE 0.061 0.052 0.052 0.063 0.051
ATEEE 0.003 0.000 -0.002 -0.002 -0.004
EHER:SF4F9R128(A)

h = F1hm(dh) | SF22iR(R) | HE3Hha(F) FAth S () | FEoihs (BE)
I TE BRI 15:05 14:53 14:45 14:36 15:19
HIE & 0.056 0.054 0.051 0.069 0.055
ATE EE -0.005 0.002 -0.001 0.006 0.004
EEB:SF4E982180K)

& FithmGt) | F2R(R) | H3M R (F) FAM S (FE) | FoHA (BE)
B E B Z 15:04 14:52 14:45 14:35 15:16
HIEE 0.054 0.054 0.046 0.063 0.055
ATEEE -0.002 0.000 -0.005 -0.006 0.000
EHER: S 4F9R26R(A)

Hh = F1thmt) | F2R(R) | FI3MA(F) Fathm () | Foths (BE)
I TE BRI 15:04 14:52 14:44 12:34 15:17
HIE B 0.056 0.056 0.053 0.067 0.051
AT[E LE 0.002 0.002 0.007 0.004 -0.004




EiEBRM4E8A1HA)

ENE X — iR R BN EHERICHE TS ER B REAESER

#3E . HORIBA PA—1000

BfI: uSv/h

HFE S :100cm

#h = FithmGt) | F2R(R) | H3M R (F) FaM S (FE) | FESHA (BE)
HBIE BRI 15:07 14:55 14:46 14:35 15:20
BIEE 0.055 0.048 0.050 0.086 0.055
ATEEE -0.007 -0.001 0.005 0.019 -0.003
EER:SM44E8A8H(A)

h = F1hm(dh) | SF22iR(R) | HE3Hha(F) FAth S () | FEoihs (BE)
I TE BRI 15:06 14:54 14:45 14:36 15:18
HIE & 0.058 0.044 0.049 0.064 0.055
ATE EE 0.003 -0.004 -0.001 -0.022 0.000
EER:$f448H158(R)

& FithmGt) | F2R(R) | H3M R (F) FAM S (FE) | FoHA (BE)
B E B Z 15:04 14:54 14:45 14:35 15:17
HIEE 0.059 0.055 0.048 0.088 0.057
ATEEE 0.001 0.011 -0.001 0.024 0.002
EHER: 5 4E8R220(A)

Hh = F1thmt) | F2R(R) | FI3MA(F) Fathm () | Foths (BE)
I TE BRI 15:05 14:53 14:45 14:35 15:17
HIE B 0.057 0.047 0.052 0.064 0.059
AT[E LE -0.002 -0.008 0.004 -0.024 0.002
EEB: S 4E8H29R8(A)

o= F1m(dh) | FE2im(F) FE3H = (F) FAt S (F) | FEots (BE)
I TE BRI 15:05 14:53 14:46 14:35 15:17
HITE B 0.058 0.052 0.054 0.065 0.055
ATEEE 0.001 0.005 0.002 0.001 -0.004




EHBAS5MM4E7H48(8)

ENE X — iR R BN EHERICHE TS ER B REAESER

#3E . HORIBA PA—1000

Bifsi: ySv/h HFE S :100cm

#h = FithmGt) | F2R(R) | H3M R (F) FaM S (FE) | FESHA (BE)
HBIE BRI 15:09 14:55 14:46 14:36 15:21
BIEE 0.062 0.054 0.053 0.073 0.053
ATEEE 0.012 0.004 0.003 0.003 0.001
EEB:Sf4E78118(R)

h = F1hm(dh) | SF22iR(R) | HE3Hha(F) FAth S () | FEoihs (BE)
I TE BRI 15:06 14:52 14:44 14:35 15:16
HIE & 0.060 0.053 0.054 0.068 0.054
ATE EE -0.002 -0.001 0.001 -0.005 0.001
EEB:Sf4E782080K)

& FithmGt) | F2R(R) | H3M R (F) FAM S (FE) | FoHA (BE)
B E B Z 15:08 14:56 14:47 14:36 15:18
HIEE 0.063 0.058 0.048 0.065 0.057
ATEEE 0.003 0.005 -0.006 -0.003 0.003
EHER:SF4E7R2780K)

Hh = F1thmt) | F2R(R) | FI3MA(F) Fathm () | Foths (BE)
I TE BRI 15:07 14:55 14:46 14:36 15:19
HIE B 0.062 0.049 0.045 0.067 0.058
AT[E LE -0.001 -0.009 -0.003 0.002 0.001




ENE X — iR R BN EHERICHE TS ER B REAESER

#3E . HORIBA PA—1000

Bifsi: ySv/h HFE S :100cm

EEBR:SM4E6 780K

#h = FithmGt) | F2R(R) | H3M R (F) FaM S (FE) | FESHA (BE)
HBIE BRI 15:08 14:58 14:48 14:38 15:20
BIEE 0.064 0.049 0.054 0.065 0.060
ATEEE 0.008 -0.003 0.001 -0.009 0.003
EER:$f45E68138(R)

h = F1hm(dh) | SF22iR(R) | HE3Hha(F) FAth S () | FEoihs (BE)
I TE BRI 15:06 14:53 14:46 14:35 15:17
HIE & 0.062 0.047 0.052 0.071 0.062
ATE EE -0.002 -0.002 -0.002 0.006 0.002
EER: S 4E6H208(A)

& FithmGt) | F2R(R) | H3M R (F) FAM S (FE) | FoHA (BE)
B E B Z 15:07 14:55 14:45 14:35 15:18
HIEE 0.052 0.050 0.053 0.062 0.054
ATEEE -0.010 0.003 0.001 -0.009 -0.008
EHER: 5 4F6RA2780(A)

Hh = F1thmt) | F2R(R) | FI3MA(F) Fathm () | Foths (BE)
I TE BRI 15:07 14:55 14:45 14:37 15:16
HIE B 0.050 0.050 0.050 0.070 0.052
AT[E LE -0.002 0.000 -0.003 0.008 -0.002




EBA-S5M4ES5828(8)

ENE X — iR R BN EHERICHE TS ER B REAESER

#3E . HORIBA PA—1000

BfI: uSv/h

HFE S :100cm

#h = FithmGt) | F2R(R) | H3M R (F) FaM S (FE) | FESHA (BE)
HBIE BRI 15:06 14:55 14:45 14:35 15:15
BIEE 0.055 0.049 0.050 0.072 0.060
ATEEE -0.003 0.000 0.001 0.007 0.007
EREB:SF4E5810800)

h = F1hm(dh) | SF22iR(R) | HE3Hha(F) FAth S () | FEoihs (BE)
I TE BRI 15:07 14:55 14:46 14:36 15:18
HIE & 0.056 0.052 0.052 0.070 0.052
ATE EE 0.001 0.003 0.002 -0.002 -0.008
EEB:Sf4E58168(R)

& FithmGt) | F2R(R) | H3M R (F) FAM S (FE) | FoHA (BE)
B E B Z 15:06 14:52 14:45 14:35 15:15
HIEE 0.064 0.059 0.058 0.065 0.063
ATEEE 0.008 0.007 0.006 -0.005 0.011
EHER:S4FES5RA2480K)

Hh = F1thmt) | F2R(R) | FI3MA(F) Fathm () | Foths (BE)
I TE BRI 15:09 14:56 14:48 14:37 15:20
HIE B 0.055 0.050 0.049 0.072 0.058
AT[E LE -0.009 -0.009 -0.009 0.007 -0.005
EEB:Sf45E58308(R)

o= F1m(dh) | FE2im(F) FE3H = (F) FAt S (F) | FEots (BE)
I TE BRI 15:06 14:55 14:46 14:37 15:18
HITE B 0.056 0.052 0.053 0.074 0.057
ATEEE 0.001 0.002 0.004 0.002 -0.001




EHBASM4E4B580K)

ENE X — iR R BN EHERICHE TS ER B REAESER

#3E . HORIBA PA—1000

Bifsi: ySv/h HFE S :100cm

#h = FithmGt) | F2R(R) | H3M R (F) FaM S (FE) | FESHA (BE)
HBIE BRI 15:07 14:54 14:47 14:36 15:18
BIEE 0.060 0.047 0.044 0.075 0.053
ATEEE 0.002 -0.003 -0.007 0.007 -0.002
EREB:-Sf4E48118(R)

h = F1hm(dh) | SF22iR(R) | HE3Hha(F) FAth S () | FEoihs (BE)
I TE BRI 15:10 14:57 14:49 14:37 15:20
HIE & 0.065 0.053 0.048 0.065 0.060
ATE EE 0.005 0.006 0.004 -0.010 0.007
EEB:Sf4%E48188(R)

& FithmGt) | F2R(R) | H3M R (F) FAM S (FE) | FoHA (BE)
B E B Z 15:07 14:55 14:46 14:38 15:18
HIEE 0.054 0.053 0.051 0.070 0.055
ATEEE -0.011 0.000 0.003 0.005 -0.005
EHER: S M4F4R258(A)

Hh = F1thmt) | F2R(R) | FI3MA(F) Fathm () | Foths (BE)
I TE BRI 15:06 14:54 14:45 14:36 15:20
HIE B 0.058 0.049 0.049 0.065 0.053
AT[E LE 0.004 -0.004 -0.002 -0.005 -0.002
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